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1 0O0no.
nO000000,A=(e)00KOOODOOOOO,000000O00. 0000,
OO00o0bOobO0o A0DODoOoDoD.

11 Q2 - Aip
Qg1 Q22 -+ QAp
det A=det| . | = E (88N 0) A (1)100(2)2 * * * Go(n)n;
: : T : oESh
Ap1 Gp2 - App

oood,sS,0n00D00000. 00 A0OnO0D0Q00O0C0OOO0O0ODO,detAO0nOO
gbobbuooogbbb.ooggbbouooobbbouoooon.

@11 a2 -+ Aip
Q21 Q22 -+ QA2

|Al, : : A det(ay,aq, ..., a,),
Ap1 Qp2 - App

O00,1<k<n0O0k0000 @0 ADDO KOOOOnnODOOO0OODOOOO.

O000Oo0000ooooOoooO,»00000000. 000,n00000000
dodooooboooboooboooooooooooooo. ogo,ooo0ooooao
0oooooooooo,ioodoodooooooooonoouon. noogoo
A=(a;)0000,j>k000ay;=000000,A0000000,; <k000
ap =000000, A000O0OCOOCOOOOOOO,00000000000000A0.
oooooooo,oooobooooooon.

e A=(aj,)0n000000000,detA=apaxn---a, 00000,

O000000o0bo000d0 eOnOODOO S, 0000000000, nO000000O
DDDD{U_I;UESH}D S, 00000.0000D0O0000D0oDooOoOon.

e nI0I0O0 ADDOONO, detd = det A.

n00000 A= (ay,ay...,a,)0000000detADO0O0DOOOOOOKOON
0dddoooooK'OnO0O0O00000 KOOOOOOOoOooooooo.

det : K" x K" x --- x K" — K,

(a1, as,...,a,) +— det(ay,as,...,a,).



gdodoououotdouououo,touoooouooooooooa.

) det(ai,...,a; +aj, ... a,) =det(a,...,a;...,a,) +det(as,...,aj,... a,).

) det(ay,...,caj,...,a,) =cdet(ay,...,a;,...,a,), cek

3) aj=a; (j<k)ODOO,det(ay,...,a;,...,a,...,a,) =0.

(OOD (1) 0000000000,

(3 000 ce s, 0000, det(asnm), @), ---,0om)) = (sgno)det(ay, as, ..., ay).
O0,0000000000D0,0000 -10000. (1),(2)0000oooooOooo
00000, 3)0000000000000. AUODO00D'ADDOO det!ADDOODO
goodo,gdooooooooogooo,ogoooooooooooo. oo, o
dooooooooooo,ooooouooog.

00 1 n000000,0 KOO2000000000K'OpOOOOOOOO KO
o000 F:K'xK'x---xK'—KOOODOODODODOOooooooo.oooo,d

00n00x0000000 ar,a,...,a,0000,0000000000.

(1
(2
(
(3

F(ai,as,...,a,) =det(ar,aq,...,a,)F (e, e, ..., e,),
000, e, ey,....,e, 0000000000 .
AOn0000000,00 10 FOOO F(by,by,...,b,) = det(Ab, Ab,, ..., Ab,)

00000O000,000000000.
e n00000 A, BOODOO, det AB = det Adet B.

2 OJOO0O0OOO0oOOo.
A=(aj,a,,...,a,)0n00000000. 000,00000000000000
0,000000,0000000000000000
(1) ADD kOO0 j00¢0 (ceK)OOOD = 000000000.
(2) ADD jO000 k0000000 = 0000 -10000.
(3) ADD jO00 ¢O (ceK)OO = 0000 c0000.
0000,0000000000 detP(j,k,c¢) =1, detQ(j,k) = —1, det R(j,¢) = ¢ O
000000, det AP(j, k;c), det AQ(j, k), det AR(j,¢) 0 0000000000000
0o.
00000000000000000000000000.
(1) ADD jO000kO0c¢O (ceK)OOOD = 000000000.
(2) ADD jO000 k0000000 = 0000 -10000.
(3) ADD jO00 ¢O (ceK)OO = 0000 c0000.
0000000000000, 00000000000000,00000000
(000000)0000000000000000000000



